FIRST TERM EXAMINATION — 2023
SUBJECT - ENGLISH
SAMPLE PAPER
Class: Vi ‘ Max. Marks: 80
Time: 3 Hrs

GeneralInstruction: -

Read all the instructions carefully before answering the questions.

Attempt all the questions in each section before going to the next section.
Alt the answers must be correctly numbered and written neatly.

For Multiple Choice Questions, write only the answers along with the option
numbers clearly.

» The paper consists of 4 sections:

YV VY

}
Section — A —~ Reading: 16 Marks Section — B — Writing: 18 Marks
Section — C - Grammar: 16 Marks Section — D — Literature: 30 Marks
SECTION -A: READING (16 Marks)
Al. Read the passage given below and answer the questions that follow: {08}

A fictional character is an imaginary character created for movies, novels, plays, operas etc. Many
fictional characters have been entertaining us for several years. Many of them inspire us a lot. We all
have loved to watch Donald Duck, a cartoon character , Byomkesh Bakshy ; an Indian fictional
detective etc. And there are many others . Sherleck Holmes was one of such great and interesting
characters.

Sherlock Holmes was a fictional detective created in London by Sir Arthur Conan Doyle, a Sottish
author and physician . Sherlock Holmes gained a huge popularity all over the world.He is always
remembered as a very wise detective. He was man of astute logical reasoning and acute wisdom. He
could solve any and all kind of criminal cases. He would often get any false appearance or’disguise’
to confuse people.

This helped him in solving complex situations . He was very devoted to his work. Sometimes he
would not even eat his breakfast until he got the clues he wanted. Sherlock Holmes had above
average physical strength . He always carried a stick with him. He was a chemistry student, but had
no knowledge of many other subjects too. He was expert at boxing , martial arts etc. He could play
violin well.

His friend John Watson describes him as a ‘strange’ person. He says that Sherlock had a ‘cat-like’
iove for cleanliness because he did not like anybody's company except his friend. But he would be
pleased if somebody praised or flattered his skills. Here his friend remark ‘strange’ is justified.

Sherlock Holmes first appeared in a novel’A study in Scarlet’, in 1887. His second novel was The Sign
of the Four’ .But readers actually started loving him since 1891, when he came in a series of short
stories in"The Strand Magazine'.

Most of his stories are in the words of his friend Watson. The Adventure of Blanched Soldier ¢, The
Adventure of the Lion's Mane ‘, ‘His Last Bow’,are some of famous stories about Sherlock Holmes.



Questions:

What is fictional character? {1)

Name any two fictional character? (1)

Name the fictional detective created by Sir Arthur Conan Doyle? (1)

What did he do to confuse people? (1)

How does his friend John Watson describe him? (1)

When did people actually start loving Sherlock Holmes? (1}

Give one word from the passage which means, ‘to appear in a different manner in order to
hide your personality’. (1)

Nowswn e

a) Physician
b} detective
c) wise
d) Disguise
8. Give one word from the passage which is opposite in meaning to ‘unskilled’ (1)

a}) popular
b) expert
¢} strange
d} interesting ‘
A2. Read the poem carefully and answer the questions that follow: (08}

Freedom is the right to do

Anything that pleases you,

As long as you keep in sight

That others also have a right.

Have you the right to kill a cat?

Oh no! It's wrang, just consider that

The cat has the right to live like you

A right to eating and drinking tao!

So remember that it's certainfy wrong
To deprive a nightingale its song,

To rob the innocent, as robbers do.

To injure someoche to win a race

To despise some and others embrace,
To disobey every order and rule

And drown a swimmer in the pool,

And shout and scream like a fool
Disrespecting the teachers in the schoaol.
So never forget that although you are free,
You should think of others, not only ‘MFE.

1. According to the poem, what is freedom? (1)
2. How are the rights of a cat similar to ours? (1)
3. Who robs the innocent? {1}
4. Mention some undesirable acts as mentioned in the poem? {1)
5. How should students conduct themselves in school? {1)
6. What should we never farget? {1}



7. Choose a word from the poem which means the same as’ disapprove’ (1)
A) Despise
B} Scream
C) think
D) Consider
8. Find a word from the poem which is opposite of ‘calm’ (1)
A} Disrespect
B) Shout
C) Innocent
D) order

SECTION -B WRITING({18 Marks)

B1. the following Is a telephonic conversation between Mr Maheshwari and Mr
Bansal.MrMaheshwari wants to talk to Mr Gupta, the sweet shop owner . But he is not
present at the moment so the shop assistant Mr Bansal takes the message for him. Mr
Bansal has to leave the shop early so he decides to leave a message for Mr Gupta. Read
the conversation and write the message. {05}

Mr Maheshwari : Hello | can | talk to Mr Gupta?
Mr Bansal : he has gone out for some work. Can 1 help you?

Mr Maheshwari : | am Mr Maheshwari . | wanted to place order for 5 kg sweets. Please tell
him that | will collect my order at 6:00 pm sharp In the evening and I'll make the payment
in two days time.

Mr Bansal: | will inform him when he returns and ask him to get back to you.
Mr Maheshwari: Thankyou
BZ. You went to an orphanage to distribute sweets,colors etc on the occasion of

Holi in your locality. Describe the feelings and experience in form of a diary entry. {05)

B3. Write a letter to your friend describing how you spent your summer vacation. Also,
inviteher to visit your hometown in upcoming winter vacation. (08)

- lam good-hope you are good too- winter vacation- from 23 December- relaxed and chill-
Goa- went to museums- painting exhibitions- fair- crash course in painting- cherished
dream- enjoyed my holidays-come here for next vacation-we will -enjoy

OR
Write a short story based on the hints given below in about 120-150 words.Give a
suitable title.
Kim and Ray- two best friends- go on voyage- ship is wrecked- they are safe- land on a
deserted land- pray for survivaal- Kim prays for himseif- all his prayers are answered-
god appears-tells Kim it was Ray’s prayers- that alt his wishes are fulfilled- Kim felt
broken and ashameds



SECTION — C GRAMMAR(16 Marks)

For questions C1 to €4 choose the most appropriate answer from the given options:

C1.Fill in the blanks with suitabie collective nouns:

a) In the dark night only a ........ of stars is visible

i} Crowd ii} bundle iii) clutch iv} constellation

b} The ..... of geese always followed the mother geese.
i} Fleet it} gaggle iii} herd iv) brood

C2. Complete these sentences using appropriate modals:

a) How..... he speak to me like this?

i) Dare i} dared til) dared not iv) dare not

b) You ... wear a coat to protect yourself from the cold.
i} Shouid ii) ought to iii) could iv) would

C3. Fill in the blanks with suitable Possessive Pronouns:

a} | knew that the bag is ..... because it had my name on it.
i} My ii) mine iii) | iv) me

b} They have been busy cleaning...house.

i} We it) ours iii} our iv) their

C4. Fill in the blanks with Past Continuous tense:

a) Yesterday all of us ......... the new released movie.

i} Were watching ii) watching i) was watching iv} have watched
b) While watching the game the audience ........

i) Cheered i) were cheering iii} is cheering iv} will be cheering

C5. Fill in the appropriate correlative conjunctions in the following sentences:

1} llike .... the brinjals ... eapsicum.
2} Tina will take her vacation...in July ... in August..

{2)

(2}

(2)

{2)

C6. Underline the verbs in the following sentences and then classify them as transitive or intransitive: (2)

1. lam tired.
2. Nikhil gave me a pen.

C7. Underline the adjectives and state their kind in the following sentences:

1.Child slippeg- on the wet ground.
2. Today is the last day of the festival.



C8. Write the meaning for the following idioms: (2)
1. to hold one’s tongue

2.to fight tooth and nail

SECTION D LITERATURE (30 marks)

D1. Read the following extracts and answer the questions that follow:

I-Speak up

Don’t talk with your mouth full

Don’t stare

Don’t point
Don’t pick your nose

i) Why do grown ups say ‘speak up’?
{ii) When a child is stopped talking?
{iii} What do you think is the purpose of elders behind these scolding?

i} [l He wore a question mark for tail,
An overcoat of gray,
He sat up straight to eat a nut

i} (i}what is the shape of squirrel’s tail?
{ii} How does it eat a nut?
{iii} Name the poem and the poet.

11"You have already been answered|”
. . oy
i. Who is the speaker? ) Z&% ) HW[‘ i) COLUZI% iy magyam
. - . -71-1’ "‘V)haﬂé’ %

fi. Who is referred as 'you' here? }) Hehral ) RoeL iH) ;a/j —thelie~

)u;im.ééh % ) - ’.,"'IE A
fii. What are thehquestions that have already been answered? D ow i) /fwo nd Fhss- @f”
D2. Answer any three of the following questicns in about 20-40 words each - {2X3=6)
1-What makes Mridu conclude that the beggar has no maney to buy chappals?

2-Is the poet afraid or curious or both?(The shed)



3-Why did the neighbours kill the dog?
4-Why did the king want to know answers to three guestions?

D3. Answer any one of the following questions in about 75-80 words each: {1X5=5)
How did the king and the hermit helped the wounded man?

OR
How did the spirit of the dog help the farmer first?

D4. Answer any three of the following questions in about 30-40 words each: {2X3=6)

1-What were the two possessions of Jim and Della in which they tock great pride?
2-Why did Sam and Bill tell the boy that they would go hunting the next day?

3-Did Maxwell tell pitcher he needed a new stenographer?Then why did he deny it?
4-What did Bill feel about the hoy at the end of the story?

DS. Answer any one of the following questions in about 75-80 words each: {1X4=4)
How did the boy treat Bill? Make a list of the things he did to Bill.

OR
Describe Harvey Maxwell's busy day at the office?
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Class —VIi
‘ Session 2023-24
' Subject - Mathematics
First Term Sample Question Paper
‘ime Allowed: 3 Hours Maximum Marks: 80

reneral Instructions:

. This Question Paper has 5 Sections A, B, C, D, and E.

' Section A has 20 Multiple Choice Questions (MCQs) carrying 1 mark each.

. Section B has 5 questions carrying 2 marks each.

. Section C has 6 questions carrying 3 marks each.

. Section D has 4 questions carrying 5 marks each.

. Section E has 3 Case Based integrated units of assessment (4 marks each) with sub-parts of the values of 1, 1
nd 2 marks each respectively.

'. All Questions are compulsory. However, an internal choice in 2 Questions of 2 marks, 2 Questions of 3 marks
nd 2 Questions of 5 marks has been provided. An internal choice has been provided in the 2 marks questions of
iection E.

[SECTION: - A |
).1 Additive identity for integers is:
a) 0 (b1 () -1 (dy2
1 .
)2 S0 f24is:
ay 10 (b) 8 (c)y12 {(d) 16

).3 A batsman scored the following number of runs in six innings: 36, 35, 50, 46, 60, 55, then the range of runs
cored by the batsman is:

a) 25 {b} 20 {(cy 10 {d) 30
).4 If 5p + 2 =17, then the value of p is:
a) 15 (b} 3 (c) 5 ‘ (d) 10
3.5 If the sum of the measures of two angles is 90°, the angles are called
a) Complementary angles (b) Supplementary angles (c) Linear pair (d) None of these
1.6 Out of 25 students, 8 are absent. What per cent of the students are absent?
a) 30% (b) 32% (c) 40% (d) 20%
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“he area of the triangle in the given figure is:

a) 12cm? (b) 6cm? (c) 10¢cm* (d) 24cm?
).8 (-30) + 10 =

a) -5 (b) -3 © 3 (d)5
2912+ 2 is:

a) 16 (b} 10 (©) 12 (@) 26



).10 The mode of the numbers: 2, 2,2,3,3,4,5,5,5,6, 6,8 s:

a) 2 (b} 5 (©)2&5 (d)3
).11 Equation for the following statement: The sum of numbers x and 4 is 9 is:
a) x+9=4 (b} x+4=9 (c) x-4=9 (d) x-9=4
).12 The supplement of 110 is
a) 90° (b) 70° (c) 60° (d) 50°
313 The cost of 3 envelopes is X 15. Find the cost of 5 envelopes.
a) Rs25 (b3 Rs30 ' {c) Rs15 (d) Rs35
).14 The circumference of a circular disc of radius 14 cm is:
a) 86cm {b) 78cm {c) 88cm {d) 93cm
).15 (=5) + (~ 8) = (= 8) + {1curerrrenn }
a) -8 (b} -5 ()3 (d)-3
1.16 The number in the boxD, such that% X I:I = —;—%.

5 3 6 4
a) 5 (b2 (¢}, (D)5

).17 The improper fraction %ti in the form of a mixed fraction is

2) 82 (b) 85 (c) 87 @12

).18 The solution of the equation 10p =10 is
ayl (o ) (c) 10 (d) 106

JIRECTION: In the question number 19 and 20, a statement of assertion (A) is followed by a statement of
teason (R). Choose the correct option

a) Both assertion (A) and reason (R) are true and reason (R} is the correct explanation of assertion (A)

b) Both assertion (A) and reason (R) are true and reason (R} is not the correct explahation of assertion (A)
¢) Assertion (A) is true but reason (R} is false.

d) Assertion (A) is false but reason (R) is true.

).19 Assertion (A): - The percentage of 1:4 is 25%.

Reason (R):-2:5 = = = 2 X 100% = 0.4 X 100% = 40%.

).20 Assertion (A): - 20 square cm is the area of the triangle if its height and base are 8cm and bem.

reasons (R): - Area of the triangle = %x b xh.

[SECTION: - B

).21 Multiply and express as a mixed fraction: 3 X 5—;—

).22 Ashish studies for 4 hours, 5 hours and 3 hours respectively on three consecutive days. How many hours
loes he study daily on an average?

).23 Laxmi’s father is 49 years old. He is 4 years older than three times Laxmi’s age.
OR
rfan says that he has 7 marbles more than five times the marbles Parmit has. Irfan has 37 marbles.
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).24 Find the angle which is equal to its complement.
OR
'ind the angle which is equal to its supplement.

).25 Saili plants 4 saplings, in a row, in her garden. The distance between two adjacent saplings is —z— m. Find the
listance between the first and the last sapling.

SECTION: -C

).26 Organise the following marks in a class assessment, in a tabular form. 4,6,7,5,3,5,4,5,2,6,2,5,1,9,6,5,
L4, 6,7.
i) Which number is the highest? (i) Which number is the lowest?
OR
‘ind the mean of the first five whole numbers.

).27 Find a number, such that one-fourth of the number is 3 more than 7.

).28 Fill in the blanks:

i) If two angles are complementary, then the sum of their measures is

ii) If two angles are supplementary, then the sum of their measuresis _____

iii) If two adjacent angles are supplementary, they form a . __
OR . E

A
n the adjoining figure, name the following pairs of angles. e
(i)Obtuse vertically opposite angles R
A B 0 e
(iD)Adjacent complementary angles : Co

(iii} Equal supplementary angles.

).29 Sudhanshu divides a circular disc of radius 7 cm in two equal parts. What is the perimeter of each
emicircular shape disc?

).30 The adjoining figure shows two circles with the same centre.
*he radius of the larger circle is 10 cm and the radius of the smaller circle is 4 cm.
‘ind the shaded area between the two circles. (Take mw = 3.14)

).31 A gardener wants to fence a circular garden of diameter 21m. Find the length of the rope he needs to
yurchase, if he makes 2 rounds of fence. Also find the cost of the rope, if it costs Rs 4 per meter. (Take 1 2%2—)

SECTION: -D

).32 A car runs 16 km using 1 litre of petrol. How much distance will it cover using 2% litres of petrol.

OR
\ two-wheeler covers a distance of 55.3 km in one litre of petrol. How much distance will it cover in 10 litres of
retrol?

).33 The heights of 10 girls were measured in cm and the results are as follows: 135, 150, 139, 128, 151, 132,
46,149,143, 141.

i) What is the height of the tallest girl?

ii) What is the height of the shortest girl?

iif) What is the range of the data?
.iv) What is the mean height of the girls?

v) How many girls have heights more than the mean height.
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).34 Find the value of X in each of the following figures if 1 || m.

! { B
lra;f *@‘i’?f j
<@ — »f d
/ fer |

).35 (i) Chalk contains calcium, carbon and oxygen in the ratio 10:3:12. Find the percentage of carbon in chalk.
{ii) If in a stick of chalk, carbon is 3g, what is the weight of the chalk stick?

A

SECTION: - E

).36

n a test Smarks are to be given for every correct answer and -2 marks for every wrong answer. Raja answered
1l the questions and scored 30 marks though he has given 10 correct answers. Radha also answered all the
|uestions and scored -12 marks though she has given 4 correct answers.
i) How many incorrect answers were given by Raja.
ii) How many correct answers did both attempt?
iii) If Raja would have answered 3 correct and 3 incorrect answers then find his total score?
OR
If Radha would have answered 5 correct and 3 incorrect answers then find her tetal score?

Q.37

o

SCHOOL AHEAD

\ traffic signal board, indicating ‘SCHOOL AHEAD), is an isosceles triangle in which its base angles are equal and
ts vertex angle = 40°.

i) Find the base angle.

ii) If base angles are 50° each then find its vertex angle.
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iif) If the ratio of one of the base angles and its vertex angle is 7:4 then find all the angles.
: OR
fvertex angle of the given triangle is 80° then find its base angles.

liya sold 2 chairs at Rs480. The profit made by her on selling the chair is 20%.

i) What is the formula for finding profit%.
ii) Find the cost price of both the chairs.
iii) How much profit did she gained in selling both the chairs.
OR
f the selling price is Rs 600 for both the chairs find the cost price of both the chairs.



* Sample Question Paper -2023
SUBJECT - Science Class - VII M.M : 80

SECTION - A

1) Birds glide effortlessly in the air with the help of (1)
a) Conduction of heat in the air
b) Radiation of light through the atmosphere
¢) Convection current of air
d) None of the above
2) Citric acid is present in
a) Curd b) milk ¢) lemon d) spinach (1)

3) Which of the following is not scaleif temperature? ( 1)
a)Kelvin scale b) Celsius scale c)Kelvin d} Richter scale
4) Acids and bases can be identified in the laboratory by ( 1)
a) tasting b) touching c¢) smelling d) an indicator
5) Mode of nutrition in fungi is mostly (1)
a) autotrophic b) symbiotic ¢) saprophytic d) all of these

6) The complete digestion & absorption of food occurs in ( 1)

a) large intestine b) small intestine

¢} oesophagus d) stomach

7) which of the following is a physical change (1)

a) growth of a tree b) photosynthesis

¢) germination of seed d) washing of vegetables

8 ) The mechanical digestion of food starts in (1)

b) Oesophagus b) mouth) small intestine d) stomach

9) Lichen is an association between ( 1)
a) an algae and fungus
b) an algae and tree
¢) a fungus and a tree
d) bacteria and a leguminous tree
10) When magnesium oxide is dissolved in water the solution formed (1)
a) turns red litmus blue
b) turns blue litmus red
¢) gives no colour with phenopthalein d) gives back the magnesium ribbon
11) Which secretion does not contain digestive enzymes? (1)
a) bile b) gastric juice c¢) intestinal juice d) pancreatic juice
12) Convection of heat takes place in (1)
a) metals only b) liquids only
c) gases only d) ligquids and gases
13) Gaseous exchange in fish and earthworm occurs respectively ( 1) through
a) gills & spiracles
b) lungs and gills
¢) gills and skin
d) lungs in both
14) Stainless steel pans are usually provided with copper bottons. The reason for this
could be that ( 1)
a) copper buttons makes the pan more durable
b) such pans appear colourfull
¢) copper is a better conductor of heat than the Stainless steel



d)Copper is easier to clean than the Stainless steel

15) Cusecta is an example of

a) autotroph b) parasite ¢) saprotroph d) host ( 1)

16) Which is the colour of turmeric indicator in a basic solution? ( 1)
a)green b)red c¢)yellow d) pink.

17) Assertion: The number of times a person breathes in 2 minute is termed as the breathing rate. (

1)
Reason: During breathing, inhalation and exhalation processes occurs simultaneously.
18 ) Assertion: Temperature is the measure of the heat energy . ( 1)
" Reason: Energy is the capacity to do work.
19) Assertion: Freezing if water to ice is a physical change.( 1)
Reason: A physical change involves the change in state.
20) Assertion: The pain caused due to any sting can be neutralised by baking soda. ( 1)
Reason: Ant sting is acidic in nature.
SECTION - B

(Question No. 21 to 26 is very short answer questions)

21) Name the respiratory organs in fish and Human being. (2)

22) Why does a turmeric stain on white shirt is turned to red when 1t is washed with soap? (2)

23) Suggest two methods to prevent rusting. _ (2)
OR

How can you say that ripening of a fruit is a chemical change?

24)Name the green pigment which helps the leaves in the synthesis of food. What is its exact
function? : (2)
25) Where 1s the bile produced? Which component of the food does it help to digest? (2)
OR

Why do we get instant energy from glucose?
26) Why does not the mercury level fall or rise in a clinical thermometer when taken out from the
mouth? (2)
SECTION -C

(Question No. 27 to 33 is very short answer questions)

27} Distinguish between autotroph and heterotroph.(Any 3 points) (3)
28) Write about the structure & function of stomach. (3)
OR

a) Why are vitamins necessary in our diet?
b) Define egestion.

29)a) Why do we often sneeze when we inhale a lot of dust — laden air? (3)
b) Why do mountaineers carry oxygen cylinders with them?

30} Explain the chemical change that occurs when a ribbon of magnesium is burned in air. What
happens when the product of the chemical reaction is mixed with water? Also write the relevant
chemical equation. ' (3)

31) Write an activity to show conduction in solids. (3)

32)a) Is the distilled water acidic/ basic/ neutral? How would you verify it? (3)

b) Explain why an antacid tablet is taken when you suffer from acidity?



33)a) Draw a well labelled diagram of ruminant. : (3)
b) Draw a well labelled diagram of amoeba.

SECTION-D
(Question No. 34 to 36 is very long answer questions)

34)a) What happens when an iron blade of a knife is dipped in a copper sulphate solution? What kind
of change takes place?
b) Distinguish between physical and chemical change. (Any 2 points) (5)
OR

a) What is stainless steel made up of?
b) Define crystallisation and galvanisation?

35) a) What are the different means by which heat can be transferred?
b) Write an activity to show convection of heat in water or liquids. (5)
OR

a) In places of hot climate, it is advised that the outer walls of houses be painted white. Explain.
b) Draw a well labelled diagram of clinical thermometer.

36)a) Why do farmers grow many fruits and vegetables crops inside large green leaves? What are the
advantages to the farmers?
b) Draw and describe the structure of a cell. (5)
OR

a) What are insectivorous plants? Explain the mechanism of nutrition of pitcher plant with the
help of a diagram.
b) Why is the sun considered as the ultimate source of energy for all living organisms?

37) An iron rod is heated by a burning candle. Tron rod is a good conductor of heat because heat is
transferred from one end to other end. The property of the conductor is called conduction .Copper
is the conductor of heat because it transfers heat from one end to other. Steel is the conductor of
heat, therefore, utensils made of steel are widely used for the preparation of food. Aluminium is
also a good conductor of heat and therefore, used as utensils for the food preparation.

a) Why iron rod 1s a good conductor of heat ? (1)

b) What is conduction ? (1)

¢) Why some utensils are made up of steel 7 (2)
OR

How an iron is a good conductor of heat ?

38) Take few petals of China rose 1n a beaker. Add some water and heat the beaker till the water in it
- becomes warm. Keep the mixture for some time till the water becomes coloured. Now test the
given samples with China rose indicator to find if they are acidic, basic or neutral. The indicator
gives different colours in different media. The given samples are lemon juice, soap solution,
distilled water, sugar solution, limewater, curd, window cleaner.
a) What is an indicator? { 1)
b) Give two examples of indicators other than china rose. ( 1)
¢} How china rose indicator is made ? ( 2)

OR

Mention the role of indicators.
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39) Amoeba is a microscepic single celled organism found in pond water. Amaoeba has a cell membrane,
rounded dense nucleus and many small bubble-like vacuoles — in its cytoplasm. Amoeba constantly
changes its shapes and position. It pushes out one, more finger-like projections, called pseudopodia or
false feet for movement and capture of food. Amoeeba feeds on some microscopic organisms. When it
senses food, it pushes out pseudopodia around the food particle and engulf it The food becomes trapped
in a food vacuole .Digestive juices are secreted into the food vacuole. They act on the food and break it
down into simpler substances Gradually the digested food Is absorbed. The absorbed substances are used
for growth, maintenance and multiplication. The undigested residue of the food is expelled outside by the
vacuole.

{(a) What are the structure found in amoeba ? (1)

(bYWrite the two functions of Pseudopodia? {1)
¢} How amoeba feeds on microscopic organisms?{Write 2 sentences). (2)

OR
Mention the role of digestive juices in digestion of food ?

—_— ——
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Delhi Pubiic School Bhilai C.G.
Sample Paper 2023
CLASS VIl
Sub : ICT( Information and Communication Technology )

Time 1hr 30 mins M. M. 50

A. Multiple Choice Questions. ‘- 1x10=10

" 1) When we apply filter feature , small arrow appears near
a} Row header b) Sheet tab c) Column header  d) None of These

2) Sort command is present in which Menu.
a) File b) Tool ¢) Data d} Help

3) In the binary number system right most digil before the fractional point
a) MSD b)BSD <¢)LSD d) None of these

4y Which of the following two symbols present in the binary number system ?
a)lé&2 b)8&9 c)0&1 d)5&6

5) Which attribute of <able> tag gives the space between the adjacent cells?
a) cellspacing b) rowspan c) cellpadding - d) colspan

6) Which is not the criteria used in conditional formatting ?
a) Data bar b) Color scale ¢) Ascending d) lcon set

7) Which of the tag used to draw a horizortal line in browser ?
a) <body> b) <html[> C) <sup> d) <hr>

8) Which tag allow the user fo insert a Table in awebpage ?
a) <IMG> b) <TABLE> c)<A> d)<LI>

9) Which program do you need to view an HTML documents?
a) text editor ~ b) A graphics c) web browser d) none of these

10) Which of these are not the aftribute of <TABLE> tag ?
a) border b) background c) bordercolor d) type

B. State Truel False 1x5=5
1) The START atiribute always accept an integer vaiue.
2) The hexadecimal number system contains 16 digits.
' 3) Calc can arrange the data in ascending order only.
4) The <U>tag is used to underline the text in webpage.
5) The container tag has only the opentag.

C. Fill in the blanks 1x5=5
1) The -------- tag used to make the text editor appears boid.

2) The <ol>tag is used to create an......

i) FUUNI used when data is to be sorted on the basis of more than one criterion.?

4) The TYPE is an attribute of the -———--—— tad.

5) The HTMLis & .......... language used to create webpages.

D. Answer the following Questions

1) Write the name of any four aftributes of the <TABLE> tag.

2) What is the use of Goal Seek feature ?

3) What is number system ? Explain

4) What is the difference between Sorting & Filtering the data ?
~5) Add the following hinary numbers

a) 11001+ 1010 by 110101 + 1010
6) Convert the following Decimal numbers into Binary numbers
{1234)10 (573) 10

7) Define Webpage & Website.

8) Differentiate between Ordered & Unordered list.

9) What are the rules required for writing HTML Tags ?

10) Differentiate between Rowspan & Colspan attributes.
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